
Pre-Calculus - Honors

Worksheet#24

Lesson 24

Answers
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2) positive: 4 voriotions = 4 or 2 or O positive reol roots
f(-x) =4xa *x3* 6x2* x+5
negative: O voriotions = O negotive reol roots

3) positive: 3 voriotions = 3 or I positive reol roots
f(-x) = 3xa - 5x3 - 6xa - 8x - 3

negotive: 1 voriotion = 1 negotive reol root

4) positive: 2 voriations = 2 or O positive recl roots
g(-x)= -4x3*5x*8
hegotive: I voriotion = I negotive reEl root

5) positive: 1 voriotion = 1 positive reol root
g(-x)=-2x3-4x2-5
negotive: O voriations = O negotive reol roots

6) positivi: I voriotion = I positive reol root
f(-x)=-f*x2*4x-4
negative: 2 variations = 2 or O negotive reol roots

7) positive: 3 voriotions = 3 or 1 positive real roots
f(-x) = 3x3 + 2Ox2 + 36x * 16
negotive: O voriotions = O negotive reol roots

8) positive: 3 variotions = 3 or 1 positive real roots
f(-x), = -Zxa - 13x3 - ?!xz - 2x + 8
negotive: 1 voriotion = I negative reol root
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48x2-48x*9=O
(l?x - 3X4x - 3) = O

y = (2/3, t/4, 3/41


